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By 3% S FI07T4E08 H 25 H HER 0 114 b (Biir)
fh 4 JE Hh = (Mo | E=E = A T fE g2y ]

X R AbE 10. 00| AHxf 80 800| 2,268 2,228 2,160
IENE b 10. 00| AHxf 89 890| 2,106 1,966| 1,836
H X E % 15. 00 | AH%F 800 12,0001 2,700| 1,718| 1,577
X D BB 10. 00 | AH%F 400 4,000| 1,004 914 594
H % i 3. 00| FHxf 5 15| 2,160 2,074 2,052
i A ] 1L 1. 00| FHxf 275 275 864 770 648
AN ™5 5. 00| FHx%f 202 1,010 2,484 2,013| 1,188
ENIE 0.50| fxt| 1,651] 826  184]| 137 108
N 0.40| fxt| 1,560] 624  184]| 61| 108
= O 4. 00| AHxf 759 3,036 2,592 2,235 1,512
[ I\ w5 5. 00| FHxf 65 325 3,456| 1,937 1,296
EN N 5.00[#A%F| 1,010 5,050 2,808 2,326 1,188
e =% 0. 15| FHxf 3, 450 518 86 86 81
A7 k= b AbiEiE 3. 00| FH%f 1,117 3,351 2,808| 2,033 864
H 7% w5 5. 00 | #Hx} 140 700 1,944| 1,743 1,512
e AL E 10. 00| AHxf 14 140 2,160 1,851| 1,728
5 F b 10. 00 | #H%f 667 6,670 5,184| 4,734 3,618
£ A L 10. 00| AHxf 628 6,280 2,160| 1,782 648
L&A £ B 10. 00 | #B56f 1,071 10,710 3,348| 3,183| 2,160
P=—lH A & ¥ 4. 00| FHxf 827 3,308 2,052| 1,617 540
T AINT F I 0. 10| FH%f 694 71 227 115 86

+Lxon =St 4. 00| FHxf 9 36 6, 480
AEHEE w5 0. 10| FH%f 1, 400 140 162 115 65
ZDXH E % 0. 20 | FHx} 1, 800 360 62 59 54
LU &k B 0. 20 | FHxf 300 60 89 83 78
AA ha—yv £ B 5. 00| FH%F 170 850 1,966| 1,710 756
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE S FI07T4E08 H 25 H eI Dt e/ 18 ~ (Biir)
fh 4 JE Hh = Wae | %K F i fiE T fE g2y ]

sk = 10. 00 | #H%f 301 3,010 5,616| 5,028] 3,888
B | 1000kt 6l 160| 4,860 4,448| 3,456

= /N w5 10. 00 | #H%f 100 1,000| 5,400| 4,709| 3,564
PE & & 5. 00 | FH %} 1,119 5,595 4,320 3,970 2,700
T s.00 #xt|  so| 150 4,320 4,176| 4,104

v A —% [T 2. 00 | FHx} 82 164 2,376 1,870 1,620
2 (AL 0. 50 | FH%f 408 204 432 415 396
P (RS O 0. 60 | #Hx} 60 37 464 411 400
BETE 0.30| #xt| 1,000 300 346 320 302

Avava 7 4 U E | 13.00| fE%F 24 312  4,104| 2,389 594




